ESERCITRZONS 40
twsSsione DEVIATH

cad
5= 2em  CoStomk o Yullo Lo suoue
b 20em
Cory = lﬁm/c\m‘
C x G M= 4.6 x 0" kNem
Xy 5 < a5t
o Deivawmone £ ose moubiy & bocsowe it

d.-?wmm Qe bemsionw movmek.

5 froWo & um qpobleamo O Soimt - Uemwot o flsaome dewoks Sbomo mole B fomuome

oo boveeut @, Qistomls  eiren b/é'z uspedo of dwokd P & simishe dello Gevane, ossemiome che e jueseuR
s an ose & fmmeby ¢ @ Sishamo & Niferimemid e ceutrole d' imevua.

Keordiowwo clo her {0 pdolenmo etelo f&sm cleunle, o R imdod

L dol, mmomemis (-fleHwk MO _puromeli movmadls e Gowo opoﬂwh

N {dmulo d; Nove .

“

-

¥ (1)

'

[
<

b
% = 1. 1

e J equoriome delr st meuke & fouwta impomeudo uguoll ¢ O
,Q' 20 4. J&Q Q%Oﬂe virowamo @ Jum vwo leoremmo delo ﬁes.ﬂm

Aoesso dmdiommo O qmm Gile o ponuau oelte
. sroregromn’ dello moSho Loiome,.  imiroouuce mals
Imcle awe aStEm o mdeumﬂg cenhvall  Local:
Qhe SoHoserio<.

fo. quoulo Wﬂ‘“ww wlow dell' oo esvo \olb:

AzA' <+ Ao + A, +A4= 2hsS+ 232bs = 2([457}3.




Per Qomigd wvuardn- i eoltolo cter momemk d' imerwe, esol Wipero:

G & G

& &
I)‘ = IK\* I)‘2+ Ixs,-(- IX4
G @& G G 4.

Tur s T dff, = Lsb% |- 16)"(1s) - 2 6b*

G G
=) Ix|: Ix“ -~ %Qag
Pu € edledo dof eomhilubo imerude delto 20u0. & viome R quole & S0 | hoth Sblge
o =€P"‘°"‘° S &0'"“’16 d; YRR - im provkicolowe;

& G
Lx, Tx:z eob'z(lff") + I'/ %2(45‘) + dx2 Py

3 2
; : T"E (6‘2b)s? < ];— S(Szb) + (- g-) $2bs)

2yl 2pls - &3
2 4 3

" e ©

6 G
— IKZ e Ixa = %b%-

fommomda  SHlemoms :

_6 iy (3 2 5%h%% = &( Sz>b3s.
Ty = _é.bs-(-g\Yb 37-&

uaubet hor crmmlg y:cdm.dh il momeml coubo®e d' imerms vgeelo Q' osee Y.

I\d =1 o l\aaf I:‘JB-‘. Ifyq
Amqwe.' >
.Tty?'-" I:;:n-t- dufﬂq = .'12-05* « (\%-b) bs =(§ -Sz)b-"s
G G 3 3
tom i%:‘_[% =(-2--Sz)bs
Jueuhe  hea



uHLvsowo I umd oo L feoreawa di yotoUiome

Tv: : L. 3 * Ivzz(‘%) (& %32(“2%5

| _L = P | ..".'_. S 3 .|_. .—‘- = =3 JZ b?s
K (Z) 3 (020) 8+ 7 i CLR (. "3 JZ)
. \522@3“ 2\—‘25’3 —-bg =(5ga"">l°35

m M‘m'hw [ momem¥ 2w d' (nevuo, Volfomo -

G
IX - %(7-(- 52)1735.

6 2\ p’s.
1y=(-3)°"

Jmo whd me\L ( mameub d‘ IMeVe, Weovdlomo 1L Jia'owo lkorewma aello. f-&aaoue
LOwe .

I
tcv‘ - __K 6%2’:
T | . -
l' -5(? = \S?—) b’cg Y4 (7 < JZ)
? (\-— "%— bs (3- 8z D
= (0. O

gl quie vhowomo € wlowe @eer ougeRe  pov 3 -

(:w"i((o. 6t)= $4 6L°



(O~

)y isprione dat d:?wmuq. ddbc‘mw monmale em’e.ch & Jumiy C €
J Jus Jolleslolo g0 gyowe.

Radowto, vidrdoudd b Rrnue i Nover, aeamo

|
Og = _?x“°_?3x
Ix 'L”




